Check hardware pack for the following items:
1. 2 gty U-bolts
2. 4 gty 5/8" flat washers
3. 4 gty 1/4" flat washers
4. 4 gty 1/4" lock nuts
5. 3 gty detent pins
6. 2 qty circle cotter rings
7. 3 qty nylon lanyards

Turn Cart frame over, line up axle between holes, take

2 u-bolts and line up over the axle, and through the
holes

Turn cart over so that it is sitting on the axle, and the
| u-bolt threads are showing;

put 1 - 1/4" flat washer and 1 - 1/4" lock nut on each
u-bolt thread.




Tighten nuts with 1/4" open wrench or socket (not
provided)

| Turn the cart over so the axle is facing up.
- Take 2 of the 5/8" flat washers and put them on each
. end of the axle.

Slide a tire on each end of the axle.

Get 2 of the 5/8" flat washers, put one on each end of
the axle next to the tire.

Get the 2 cotter rings out of hardware pack, feed them
through the hole on each end of the axle.




Properly inserted cotter ring.

Take one lanyard from the hardware pack and loop it
around the front square tube, putting one loop
through the other.

Get 1 detent pin from the hardware kit, and feed the
ring through the end of the lanyard.

Insert the "T" foots into the tube on the front and

back of your cart, then loop a lanyard around the

tube, and insert a detent pin, just as in the steps
above.




Insert the handle into the top of the tube on the
front of your cart, loop a lanyard around the
frame of the cart, and feed a detent pin through
the lanyard.

Insert the detent pin through the holes of the
handle and the front tube of your cart.
It should snap into place.



A

W

Assemble the fan per diagram here. Insert the fan pole
bracket in to the slot on the cart. For better stability,
use slots next the wheels of the cart.

-Connect the pump's 3/8" inlet line to the water tank.
Connect the pump's 1/4"outlet line to the Mist ring on
the fan.

-Install mist nozzles on the Mist Ring. Hand tighten only.

-Connect the fan power cord in to the outlet on the
pump.

-Fill the tank with clean/drinkable water to prevent
clogging of the nozzles. Close the lid of the tank with
float switch placed inside the tank.

Turn on the pump and remove one of the nozzles on the
ring to flush out the system.

Once all the air bubbles are removed in the line, reinsert the nozzles back in to the ring and turn on the pump.

Turn the pump back on again to activate the mist.

Enjoy!



